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1. If 7— 25 > 15, what is the solution for x?

A x>10
B x> -4
C. x=10
D. y< -4

2. 'What are all possible values of x if % +6>7217

A x>3

B s
C x>99
D x>135

3. 'What are all possible values of x when 4 — 17 =107

A x<-28
B x> -8
C r<-12
D x> -12

4. What is the solution to the inequality 14y — 14 > 147

A yz -1
B 320
C yz1
D. 532
5. What are all possible values of x if 371' -5 187
3 = 187
A 26
X P
3
B. 23
Xz -
C 46
X 2=z
3
D. 69
Xz T
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6. What is the solution to the inequality — 3, — 1 < g7

7.

8.

A

16
’ 3
15
3
.y
10
e
10

Which set of values will make the following inequality TRUE?

O o w2

MmE6< — 12
-2,-1,0}
{(-8,-7,-6}
{-15,-12, -9}
{~12,-11,-10}

Which list only contains numbers that are solutions to the inequality?

A

B.

S T
3 4
1,4,7
-9,-5,-1
1, 5.
3" 67
1
el R 1 ETi)
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